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1.As a firm moves along its '“‘“‘ -run 3"“38: cost curve, it is ad_]ustmg lhc size ofns factnry to the quantity of production.

2.The supply curve of a firm in a competitive market is the average variable cost curve, above the minimum of marginal cost.

3.Goods that do not have close substitutes face downward-sloping demand curves.

4. The when the market interest rate rises, the price of bond will in genéz-;l_incrcase.
& In the short run when facing negative demand shocks, full employment can only be achieved with the cost of increasing inflation rate
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1, The margmal cost curve crosses the average total cost curve at
a. the efficient scale.
b. the minimum point on the average total cost curve.
c. a point where the marginal cost curve is rising.
d. All of the above are correct.

Which of the following statements is false?

a. Inthe long run, there are no fixed costs.

b.. Marginal cost is independsnt of fixed costs.

c. Economies of scale is a short-run concept.

d. Diminishing marginal product explains increasing margmal cost.
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3. When firms are said to be price takers, it implies that if 2 firm raisss its price,
a. buyers will go elsewhere.
b. buyers will pay the higher price in the short run.
c. competitors will also raise their prices.
d. firms in the industry wlli exercise market power,

4, Suppose the Federal Reserve wishes to decrease the money supp!y by $100,000. If the required reserve ratio is 0.1, which of the following actions will

achieve the Fed's goal?
(A) The Fed must purchase $100,000 in bonds. 3
(B) The Fed must sell $100,000 in bonds.
(C) The Fed must purchase $10,000 in bonds.
(D) The Fed must sell $10,000 in bonds.

5. Crowding out occurs
{(A) when an increase in government spending decreases tax revenues
(B) when an increase in government spending increases investment spending
(C) when an increase in government spending crowds out bonds
(D) when an increase in government spending decreases other types of spending such as investment spending
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1. Opportunity cost

2. Monopolistic competition

3. Stagflation

4, Gross National Product

5. Sel f-correcting mechanism

6. Purchasing power parity
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